[ X Math@MUT XXXXXXXXXXKXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXKXKXXMA /1-6300302-00001XX
Set02 Answers for No.9124

n(4d U B)=33 n(d4)=23 n(B) =20
Ansl=| n(A-B)=11 n(B-A)=14 n(4 U B)=28
n(d U B)=34 n(4-B)=8 n((4 N B))=34

n(union(4, B, C)) =32 n(d-B)=12 nd nC)=7
Ans2 = n(C—A4)=38 n(intersect(4, C,B))=2 n((4 U B)-C)=17
n(C N (4 uUB))=2 n(C-(4n B))=10 n(d-B-C)=10
Ans3 =[ans.1 =39, ans.2 =51, ans.3=16], , Ans4=19, , Ans5=21

Ans6=9, , Ans7=7, , Ans8=37, , Ans9=12, , Ansl0=100
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKXKXKKKKKKKKKKKKKMA/1-6300302-00002XX
Set02 Answers for No.9197

n(4d U B)=34 n(4)=29 n(B)=20
Ansl=| n(4-B)=5 n(B-A4)=14 n(d U B)=35
n(d U B)=34 n(4-B)=15 n((4 N B))=34

n(union(4, B, C)) =45 n(4d-B)=10 n(A' N C/) =17

Ans2 = n(C-4)=10 n(intersect(4, C,B))=6 n((4 U B)—C)=20
n(C N (4 UB))=6 n(C—(4n B))=16 n(d-B-C)=4
Ans3 =[ans.1 =35, ans.2 =56, ans.3=27], , Ans4=15, , Ans5=16

Ans6=12, , Ans7=10, , Ans8=39, , Ans9=12, , Ansli0=110
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXXKKKKKXXXKKM4A/1-6300302-00003XX
Set02 Answers for No.9252

n(4d U B)=28 n(4)=15 n(B)=17
Ansl=| n(A-B)=10 n(B-A4)=8 n(d U B)=27
n(d U B)=25 n(4-B)=10 n((4 n B))=25

n(union(4, B, C)) = 46 n(4d-B)=16 n(d n C)=17

Ans2 = n(C-4)=16 n(intersect(4, C,B))=7 n((4 U B)-C)=19
n(C N (A/UB')/):S n(C—(4 N B))=23 n(d-B-C)=9
Ans3 =[ans.l1 =34, ans.2 =56, ans.3=16], , Ans4=21, , Ans5=20
Ans6=17, , Ans7=8, , Ans8=54, , Ans9=11, , Ansli0=30

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKXKXXXME/1-6300302-00004XX
Set02 Answers for No.9312

n(d U B)=24 n(4)=18 n(B)=12
Ansl=| n(A-B)=5 n(B-A)=11 n(4 U B)=20
n(d U B)=23 n(4-B)=8 n((4 N B))=23

n(union(4, B, C)) =37 n(4-B)=15 nd n C)=13

Ans2 = n(C-4)=6 n(intersect(4, C,B))=8 n((4 U B)-C)=22
n(C N (A'uB')/):2 n(C—(4 N B))=14 n(d-B-C)=17
Ans3 =[ans.1 =28, ans.2 =48, ans.3=13], , Ans4=15, , Ans5=19
Ans6=11, , Ans7=1, , Ans8=41, , Ans9=15, , Ansl0=30

X [Page = 0001] XXXXXXXXXXXXXXXXXXKXXXXXKKXXXXXXKXXXXKKXKXXXKKXKXXXKXKKXXXKKKKXKKKXK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX XKXXXKXXKXKXMA /1-6300302-00005XX
Set02 Answers for No.9397

n(d U B)=27 n(d)=24 n(B)=25
Ansl=| n(4-B)=11 n(B-A4)=10 n(4 U B)=31
n(d U B)=35 n(4-B)=6 n((4 N B))=35

n(union(4, B, C)) = 42 n(d-B)=11 n(d N C)=10
Ans2 = n(C-4)=13 n(intersect(4, C,B))=7 n((4 U B)-C)=14
n(C N (4 U B’)'):lo n(C—(4 N B))=20 n(d-B-C)=4
Ans3 =[ans.1 =29, ans.2 =41,ans.3=11], , Ans4=20, , Ans5=13
Ans6=13, , Ans7=6, , Ans8=31, , Ans9=8, , Ansl0=110

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX KXKXXXKXXXKXKXKXKXMA /1-6300302-00006XX
Set02 Answers for No.9449

n(4d U B)=20 n(4)=18 n(B)=15
Ansl=| n(4-B)=6 n(B-4)=9 n(d U B)=20
n(d U B)=24 n(A4-B)=5 n((4 N B))=24

n(union(4, B, C)) =33 n(d-B)=6 n(d n C)=18

Ans2 = n(C—4)=14 n(intersect(4, C,B))=2 n((4 U B)—C)=15
n(Cn (4 uUB))=2 n(C-(4n B))=16 n(d-B-C)=4
Ans3 =[ans.1 =33, ans.2 =60, ans.3=15], , Ans4=15, , Ans5=12

Ans6=6, , Ans7=7, , Ans8=53, , Ans9=3, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6300302-00007XX
Set02 Answers for No.9562

n(4d U B)=33 n(d)=21 n(B) =24
Ansl=| n(A-B)=14 n(B-A)=11 n(d U B)=32
n(d U B)=35 n(d-B)=8 n((4 N B))=35

n(union(4, B, C)) = 48 n(4d-B)=19 nd N C)=4
Ans2 = n(C-4)=15 n(intersect(4, C,B))=9 n((4 U B)-C)=17
n(C N (4 UB))=7 n(C—(4 N B))=24 n(4d-B-C)=10
Ans3 =[ans.1 =36, ans.2 =56,ans.3=11], , Ans4=21, , Ans5=8

Ans6=12, , Ans7=8, , Ans8=50, , Ans9=10, , Ansli0=80
X Math@MUT XXXXXXXXXXXXXXXXXXXXKXXXXXXXKKKKKXXXXXKKKKKXXXKKM4E/1-6300302-00008XX
Set02 Answers for No.9721

n(4d U B)=29 n(4)=16 n(B)=20
Ansl=| n(A-B)=13 n(B-4)=9 n(d U B)=27
n(d U B)=29 n(4-B)=7 n((4 N B))=29

n(union(4, B, C)) =32 n(d-B)=4 nd n C)=14
Ans2 = n(C-4)=9 n(intersect(4, C,B))=4 n((4 U B)—C)=18
n(C (4 uB))=7 n(C—(4n B))=13 n(d-B-C)=0
Ans3 =[ans.1 =47, ans.2 =58, ans.3=18], , Ans4=9, , Ans5=17

Ans6=8, , Ans7=2, , Ans8=63, , Ans9=6, , Ansl0=20
X [Page = 0002] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXKKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX KXKXXXKXXKXKXMA /1-6300302-00009XX
Set02 Answers for No.9789

n(4d U B)=33 n(4)=26 n(B)=22
Ansl=| n(4-B)=9 n(B-4)=13 n(4 U B)=33
n(4d U B)=35 n(4-B)=11 n((4 N B))=35

n(union(4, B, C)) =29 n(4-B)=10 n(d N C)=10

Ans2 = n(C—A4)=38 n(intersect(4, C,B))=8 n((4 U B)—C)=14
n(Cn (4 uUB))=7 n(C-(4n B))=16 n(d-B-C)=2
Ans3 =[ans.1 =27,ans.2 =39, ans.3=12], , Ans4=21, , Ans5=13

Ans6=13, , Ans7=6, , Ans8=44, , Ans9=18, , Ansl0=70
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXXKXXKXKXMA /1-6300302-00010XX
Set02 Answers for No.9795

n(4d U B)=34 n(d4)=25 n(B) =21
Ansl=| n(A-B)=11 n(B-A4)=15 n(4d U B)=29
n(d U B)=36 n(4-B)=8 n((4 N B))=36

n(union(4, B, C)) =39 n(d-B)=7 nd n C)=11

Ans2 = n(C-4)=10 n(intersect(4, C,B))=5 n((4 U B)—-C)=13
n(C (4 uUB))=6 n(C-—(4 N B))=15 nd-B-C)=2
Ans3 =[ans.1 =32, ans.2 =46, ans.3=13], , Ans4=18, , Ans5=22

Ans6="7, , Ans7=5, , Ans8=40, , Ans9=6, , Ansl0=280
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6300302-00011XX
Set02 Answers for No.9839

n(d U B)=25 n(d)=22 n(B)=15
Ansl=| n(4-B)=5 n(B-A4)=12 n(4 U B)=23
n(d U B)=27 n(4-B)=8 n((4 n B))=27

n(union(4, B, C)) =30 n(d-B)=38 n(d n C)=17
Ans2 = n(C-A4)=5 n(intersect(4, C,B))=4 n((4 U B)—C)=24
n(C N (A/uB')/):O n(C—(4 N B))=9 n(d-B-C)=4
Ans3 =[ans.1 =40, ans.2 =60, ans.3=18], , Ans4=19, , Ans5=9
Ans6=5, , Ans7=9, , Ans8=57, , Ans9=12, , Ansl0=110

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXXXME/1-6300302-00012XX
Set02 Answers for No.9843

n(4d U B)=32 n(4)=19 n(B)=25
Ansl=| n(A-B)=14 n(B-A4)=8 n(4d U B)=35
n(d U B)=33 n(4-B)=10 n((4 n B))=33

n(union(4, B, C)) =25 n(d-B)=5 n(d n C)=11

Ans2 = n(C-A)=4 n(intersect(4, C,B))=3 n((4 U B)-C)=14
n(Cn(4duUB))=9 n(C—(4n B))=7 n(d-B-C)=2
Ans3 =[ans.1 =31, ans.2 =49, ans.3=19], , Ans4=16, , Ans5=22

Ans6=12, , Ans7=8, , Ans8=40, , Ans9=8, , Ansl0=150
X [Page = 0003] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXXKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX XKXXKXKXKXKXKXMA /1-6300302-00013XX
Set02 Answers for No.9854

n(4d U B)=30 n(4)=17 n(B) =24
Ansl=| n(A4-B)=13 n(B-A4)=6 n(4 U B)=35
n(4d U B)=30 n(4-B)=11 n((4 N B))=30

n(union(4, B, C)) = 46 n(d-B)=16 n(d N C)=10
Ans2 = n(C-A4)=9 n(intersect(4, C,B))=10 n((4 U B)-C)=20
n(C N (A'uB’)'):9 n(C—(4 N B))=19 n(d-B-C)=6
Ans3 =[ans.1 =34, ans.2 =51,ans.3=27], , Ans4=23, , Ans5=13
Ans6=5, , Ans7=8, , Ans8=44, , Ans9=14, , Ansl0=70

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX KXKXXXXXKXKXXKXKXMA /1-6300302-00014XX
Set02 Answers for No.9862

n(d U B)=25 n(4)=22 n(B)=26
Ansl=| n(4-B)=11 n(B-4)=7 n(4d U B)=33
n(d U B)=33 n(A4-B)=7 n((4 n B))=33

n(union(4, B, C)) =33 n(d-B)=38 nd nC)=12

Ans2 = n(C-4)=10 n(intersect(4, C,B))=2 n((4 U B)-C)=17
n(C N (A/UB'),)=4 n(C—(4 N B))=12 n(d-B-C)=6
Ans3 =[ans.1 =39, ans.2 =56, ans.3=13], , Ans4=13, , Ans5=15
Ans6=14, , Ans7=10, , Ans8=44, , Ans9=24, , Ansl0=10

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXKXXXKXKXXXME/1-6300302-00015XX
Set02 Answers for No.10278

n(4d U B)=39 n(4)=22 n(B) =24
Ansl=| n(A-B)=13 n(B-A4)=11 n(4 U B)=39
n(d U B)=35 n(4d-B)=15 n((4 n B))=35

n(union(4, B, C)) =33 n(d-B)=38 n(d n C)=13

Ans2 = n(C-A4)=5 n(intersect(4, C,B))=0 n((4 U B)-C)=22
n(Cn (4 uUB))=7T n(C—(4n B))=5 n(d-B-C)=8
Ans3 =[ans.1 =26, ans.2 =39, ans.3=21], , Ans4=20, , Ans5=14

Ans6=13, , Ans7=4, , Ans8=50, , Ans9=8, , Ansl0=90
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6300302-00016XX
Set02 Answers for No.10361

n(4d U B)=30 n(4)=18 n(B)=17
Ansl=| n(A-B)=9 n(B-4)=10 n(4 U B)=28
n(d U B)=27 n(4-B)=11 n((4 n B))=27

n(union(4, B, C)) =31 n(d-B)=4 nd nC)=6

Ans2 = n(C-A4)=13 n(intersect(4, C,B))=2 n((4 U B)-C)=14
n(C (4 uUB))=4 n(C—(4 N B))=15 n(d-B-C)=2
Ans3 =[ans.1 =32, ans.2 =59, ans.3=22], , Ans4=15, , Ans5=21

Ans6="7, , Ans7=10, , Ans8=44, , Ans9=16, , Ansl0=30
X [Page = 0004] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXKKKX XK KKK KKKKKK



X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMA /1-6300302-00017XX
Set02 Answers for No.10688

n(4d U B)=33 n(4)=25 n(B)=17
Ansl=| n(4-B)=7 n(B-A4)=15 n(4 U B)=28
n(d U B)Y=32 n(A4-B)=11 n((4 N B))=32

n(union(4, B, C)) =29 n(4d-B)=4 nd nC)=12
Ans2 = n(C-A4)=9 n(intersect(4, C,B))=3 n((4 U B)—-C)=5
n(C N (4 U B’)'):4 n(C—(4 N B))=12 n(d-B-C)=1
Ans3 =[ans.1 =44, ans.2 =59, ans.3 =241, , Ans4=17, , Ans5=12
Ans6=10, , Ans7=9, , Ans8=51, , Ans9=10, , AnslI0=60

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX KXKXXXKXXXKXXKXKXMA /1-6300302-00018XX
Set02 Answers for No.10868

n(d U B)=19 n(4)=17 n(B)=18
Ansl=| n(A-B)=6 n(B-A4)=5 n(4d U B)=26
n(d U B)=23 n(4-B)=8 n((4 n B))=23

n(union(4, B, C)) =30 n(d-B)=6 n(d nC)=9

Ans2 = n(C-4)=10 n(intersect(4, C,B))=1 n((4 U B)-C)=21
n(Cn(4dUB))=7 n(C-(4n B))=11 n(d-B-C)=5
Ans3 =[ans.1 =46, ans.2 =73, ans.3=19], , Ans4=17, , Ans5=18

Ans6=9, , Ans7=10, , Ans8=49, , Ans9=13, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4A/1-6300302-00019XX
Set02 Answers for No.10900

n(4d U B)=40 n(4)=20 n(B)=23
Ansl=| n(A-B)=15 n(B-4)=12 n(4 U B)=36
n(d U B)=35 n(4-B)=13 n((4 n B))=35

n(union(4, B, C)) =33 n(d-B)=12 n(d nC)=3
Ans2 = n(C-A4)=9 n(intersect(4, C,B))=10 n((4 U B)-C)=13
n(Cn (4 uUB))=2 n(C—(4n B)=19 n(Ad-B-C)=2
Ans3 =[ans.1 =36, ans.2 =48, ans.3=27], , Ans4d=11, , Ans5=19

Ans6=13, , Ans7=9, , Ans8=52, , Ans9=8, , Ansl0=60
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXXKKKKKXXXKKM4E/1-6300302-00020XX
Set02 Answers for No.11693

n(d U B)=34 1n(4)=20 n(B) =21
Ansl=| n(A-B)=14 n(B-A4)=13 n(d4 U B)=28
n(d U B)=34 n(d-B)=7 n((4 n B))=34

n(union(4, B, C)) = 42 n(4 - B)=20 nd n C)=3
Ans2 = n(C-A4)=7 n(intersect(4, C,B))=10 n((4 U B)-C)=20
n(C N (A'uB')’):Z n(C—(4 N B))=17 n(4d—-B-C)=10
Ans3 =[ans.1 =42, ans.2 =55, ans.3=25], , Ans4=16, , Ans5=21
Ans6=5, , Ans7=1, , Ans8=30, , Ans9=16, , Ansl0=150

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXXKKXKXXXKKKXXXKXKKXXXKKKXKXXKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXKXKXKXMA /1-6300302-00021XX
Set02 Answers for No.12097

n(d U B)=27 n(4)=15 n(B)=17
Ansl=| n(4-B)=9 n(B-A4)=7 n(d U B)=28
n(d U B)=24 n(A-B)=11 n((4 N B))=24

n(union(4, B, C)) =33 n(d-B)=14 nd N C)=13

Ans2 = n(C-4)=5 n(intersect(4, C,B))=5 n((4 U B)—C)=28
n(C N (4 uUB))=2 n(C-(4n B))=10 n(d-B-C)=9
Ans3 =[ans.1 =34, ans.2 =58, ans.3=18], , Ans4=21, , Ans5=23

Ans6=6, , Ans7=9, , Ans8=42, , Ans9=18, , Ansl0=70
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKKXXXXKMA/1-6300302-00022XX
Set02 Answers for No.12172

n(d U B)=27 n(d4)=26 n(B) =21
Ansl=| n(4-B)=8 n(B-A4)=13 n(d U B)=27
n(d U B)=34 n(d-B)=6 n((4 n B))=34

n(union(4, B, C)) =47 n(4d-B)=16 n(A' N C/): 11
Ans2 = n(C-4)=15 n(intersect(4, C,B))=8 n((4 U B)-C)=26
n(C N (A/uB'),)=5 n(C—(4 N B))=23 n(d-B-C)=8
Ans3 =[ans.1 =44, ans.2 =68, ans.3=21], , Ans4=13, , Ans5=13
Ans6=14, , Ans7=8, , Ans8=53, , Ans9=25, , Ansl0=120

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXME/1-6300302-00023XX
Set02 Answers for No.12173

n(d U B)=36 n(d)=22 n(B)=23
Ansl=| n(A-B)=15 n(B-A)=14 n(4 U B)=30
n(d U B)=37 n(d-B)=7 n((4 n B))=37

n(union(4, B, C)) = 42 n(d-B)=14 nd nC)=7

Ans2 = n(C-4)=9 n(intersect(4, C,B))=5 n((4 U B)—C)=24
n(C N (4 UB))=7 n(C—(4 n B))=14 n(d-B-C)=9
Ans3 =[ans.1 =31, ans.2 =56, ans.3=19], , Ans4=10, , Ans5=28

Ans6=8, , Ans7=5, , Ans8=47, , Ans9=8, , Ansl0=20
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXXKKKKKXXXKKM4A/1-6300302-00024XX
Set02 Answers for No.12180

n(4d U B)=31 n(4)=13 n(B)=22
Ansl=| n(A-B)=14 n(B-A4)=5 n(4d U B)=34
n(d U B)=27 n(4d-B)=12 n((4 n B))=27

n(union(4, B, C)) = 42 n(4-B)=15 n(d n C)=18
Ans2 = n(C-4)=11 n(intersect(4, C, B))=10 n((4 U B)-C)=23
n(C N (A'uB')’):O n(C-(4 N B))=21 n(d-B-C)=5
Ans3 =[ans.1 =37,ans.2 =59, ans.3=17], , Ans4=10, , Ans5=25
Ans6=12, , Ans7=10, , Ans8=50, , Ans9=6, , Ansl0=140

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXXKKXKXXXXKKXXXKXKKXXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMA /1-6300302-00025XX
Set02 Answers for No.12256

n(4d U B)=38 n(4)=20 n(B)=22
Ansl=| n(A-B)=15 n(B-A4)=13 n(d U B)=32
n(4d U B)=35 n(4-B)=10 n((4 N B))=35

n(union(4, B, C)) = 42 n(d-B)=10 nd nC)=14
Ans2 = n(C-A4)=4 n(intersect(4, C,B))=6 n((4 U B)—C)=18
n(Cn (4 UB))=10 n(C—(4 N B))=10 n(d-B-C)=4
Ans3 =[ans.1 =37,ans.2 =55,ans.3=18], , Ans4=15, , Ans5=19

Ans6=6, , Ans7=6, , Ans8=52, , Ans9=22, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKXXXXKMA/1-6300302-00026XX
Set02 Answers for No.12278

n(4d U B)=35 n(4)=30 n(B)=23
Ansl=| n(4-B)=8 n(B-4)=15 n(d U B)=35
n(d U B)=38 n(d-B)=12 n((4 n B))=38

n(union(4, B, C)) =56 n(4d-B)=19 n(A/ N C'): 11
Ans2 = n(C-A4)=14 n(intersect(4, C,B))=10 n((4 U B)-C)=23
n(Cn (4 uUB))=6 n(C—(4 N B))=24 n(Ad-B-C)=9
Ans3 =[ans.1 =39, ans.2 =59, ans.3=24], , Ans4d=11, , Ans5=16

Ans6=16, , Ans7=7, , Ans8=39, , Ans9=25, , Ansl0=280
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6300302-00027XX
Set02 Answers for No.12482

n(d U B)=32 n(4)=21 n(B)=26
Ansl=| n(A-B)=14 n(B-4)=9 n(d4d U B)=35
n(d U B)=35 n(4-B)=9 n((4 n B))=35

n(union(4, B, C)) =31 n(4-B)=13 n(d nC)=3

Ans2 = n(C—A4)=38 n(intersect(4, C,B))=8 n((4 U B)—-C)=11
n(C N (4 UB))=5 n(C-(4n B))=16 n(d-B-C)=5
Ans3 =[ans.1 =38, ans.2 =65, ans.3=23], , Ans4=16, , Ans5=12

Ans6=10, , Ans7=9, , Ans8=26, , Ans9=8, , Ansl0=30
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXXKKKKKXXXKKM4A/1-6300302-00028XX
Set02 Answers for No.12586

n(4d U B)=32 n(4)=19 n(B)=25
Ansl=| n(A-B)=14 n(B-A4)=8 n(4d U B)=35
n(d U B)=33 n(4-B)=10 n((4 n B))=33

n(union(4, B, C)) = 34 n(4d-B)=12 nd nC)=9

Ans2 = n(C-4)=13 n(intersect(4, C,B))=4 n((4 U B)—C)=24
n(C (4 uB))=2 n(C-(4n B))=17 n(d-B-C)=8
Ans3 =[ans.1 =50, ans.2 =63, ans.3=25], , Ans4=10, , Ans5=19

Ans6=6, , Ans7=6, , Ans8=38, , Ans9=6, , Ansl0=120
X [Page = 0007] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXXKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXX XXX KXKXXKXKXXXKXXKXKXMA /1-6300302-00029XX
Set02 Answers for No.12654

n(4d U B)=32 n(4)=14 n(B)=20
Ansl=| n(A-B)=12 n(B-A4)=6 n(d U B)=34
n(d U B)=26 n(A4-B)=14 n((4 N B))=26

n(union(4, B, C)) =20 n(d-B)=38 nd nC)=9
Ans2 = n(C-4)=7 n(intersect(4, C,B))=7 n((4 U B)-C)=13
n(Cn (4 uUB))=2 n(C-(4 N B))=14 n(d-B-C)=1
Ans3 =[ans.1 =42, ans.2 =59, ans.3=20], , Ans4=7, , Ans5=14

Ans6=15, , Ans7=0, , Ans8=39, , Ans9=14, , Ansl0=150
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKXXXXKMA/1-6300302-00030XX
Set02 Answers for No.12677

n(d U B)=27 n(d)=19 n(B)=12
Ansl=| n(4-B)=7 n(B-A)=14 n(4d U B)=18
n(d U B)=26 n(d-B)=6 n((4 n B))=26

n(union(4, B, C)) =46 n(4d—-B)=13 n(A' N C/): 11
Ans2 = n(C-4)=19 n(intersect(4, C,B))=7 n((4 U B)-C)=12
n(C N (A/uB'),)=7 n(C—(4 N B))=26 nd-B-C)=6
Ans3 =[ans.1 =30, ans.2 =52, ans.3=26], , Ans4=19, , Ans5=19
Ans6=5, , Ans7=1, , Ans8=40, , Ans9=5, , Ansl0=60

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXKXXXME/1-6300302-00031XX
Set02 Answers for No.13490

n(4d U B)=33 n(4)=13 n(B)=18
Ansl=| n(A-B)=12 n(B-A4)=7 n(d4 U B)=32
n(d U B)=25 n(d-B)=14 n((4 N B))=25

n(union(4, B, C)) = 49 n(d-B)=14 nd nC)=6

Ans2 = n(C-4)=17 n(intersect(4, C,B))=7 n((4 U B)—C)=18
n(C N (4 UB))=9 n(C-(4 N B))=24 nd-B-C)=17
Ans3 =[ans.1 =35, ans.2 =59, ans.3=17], , Ans4=15, , Ans5=14

Ans6=6, , Ans7=5, , Ans8=40, , Ans9=10, , Ansl0=160
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6300302-00032XX
Set02 Answers for No.13500

n(4d U B)=30 n(4)=16 n(B)=13
Ansl=| n(4-B)=8 n(B-A)=11 n(4d U B)=24
n(d U B)=24 n(A4-B)=11 n((4 N B))=24

n(union(4, B, C)) = 34 n(d-B)=5 n(d n C)=16
Ans2 = n(C-A4)=19 n(intersect(4, C, B))=4 n((4 U B)—-C)=13
n(C (4 uUB))=0 n(C—(4 N B))=23 n(d-B-C)=1
Ans3 =[ans.1 =44, ans.2 =61, ans.3=12], , Ans4=9, , Ans5=11

Ans6=8, , Ans7=9, , Ans8=39, , Ans9=8, , Ansl0=90
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